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I Analysis of end of 3-8 m»nwn — oTn »Y are spilled on western side of 1o — and are not 23yn
a  Source (for location): v.1 — the first one he encounters (when he exits the 53°n)
b wp»1x vv. 1-3, the repeating phrase (deemed unnecessary in vv. 2-3)
i One: 0w spilled outside, not on inside
1 Challenge: needed for its own instruction (to spill 0»7w there)
2 Answer: that is already covered in T¥n YR nna WK
ii ~ Two: make no Mo for the inner namn
iii  Three: construct a v for the outer nam
1 proof: cannot be for itself, as 071w are done outside
(a) suggestion: perhaps we invert order, and spill 0»7'w of outer nkon on inside (!)
(b) rejection: there is no T’ on inner narn
2 Proposal: perhaps third mention is there to direct n»1w to be on (top of) namn on Mw’-side (not SE)
3 Rejections: distinct vp of HY8ynw’ "7 and y™:
(a) 77 if oY, which are not 199n, require M, certainly N5y n>nn, which is 1931, requires T’
(b) »”if oW, which are not 1931 nor do they come to be 1930, require 1Yo, certainly n%y n%mn...
(c) Therefore: third mention is there to teach that a o> must be built on the outer nam
II  analysis of the proposal and ™/ dissent — and their internal disagreement
a  question: how could 3*¢ mention be directing nunn there — doesn’t say n%wn T’ Hx?
i answer: we may have thought to put on side of 0> = put on top (») of the To?
1y " 1000 2 is known via 1'p:
(a) if: nron »»w, which are not (themselves) 1231, (¥"1: or come for N193) require MO0 M
(b) then certainly: N5 n>nn, which is (nx7n) 79910 (¥™1: and comes for N993) requires TON A
(c) therefore: 31 mention must be directing construction of n%wn nam - add a Mo
2 question: where do ™/ disagree?
(a) /7378 72 K78 "7 they disagree if D220yn DYV (NP7 MRON)
(i) 77 he refers to m™aon PR —but they are 203yn
(ii) p77 adds 7935 DRa PR, meaning — not even 23yn
(b) o7 all agree that 0w are not 23yn; dispute is whether 91pn nron o7 YN is 2090
(i) support (that neither »*1nor ¥ holds 02a5vp D»7¥): RN onv. 1
1. 17772 no need for 790 -
2. »37: teaches that 2”n 99 requires that its n»7>® be spilled on the 1o
3. »”r unneeded — if: a 129p which has no namn to go “inside” needs T, certainly if it has 2% nam
4. y7. unneeded — if: has no N2 or Mx¥n to go “inside”...
a. but: we might think it is 25yn — therefore v. 4 marks the end of n793 at mann (")
b. and: ®w1 YW has v. 1 which separates 01w n2aw as an nWY = MxN *PY, not 25yn
(ii) challenge (to 97): > doesn’t hold that 91pn nron ¥ 0 is 29Yn, per 121N on v. 5 — only if IRWI
1. answer: 2 versions of »’s opinion ("7 R2'9R *RIN *IN)
III  ®nn 92 m7's suggestion — there is a X1n who holds that nrasyn 071w (of Na nron)
a  nn73xv. 6 used to prove that 102 may only eat from nron if 07 was placed above, as is proper
i contra: possibility that we would invalidate w/o p1og, as we do non% pam that are placed above
1 block: those that belong below never go above; those that go above end up below (drip)
2 response: n»nN9 0NT - they have part that goes outside (01°w), yet if first placed outside — 795 8
(a) save: inside mann do not “complete” offering; unlike outside = need pyoa
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ii  observation: “inside minn not completing” = 0V are 13N
1 rejection (X¥37):if so, use a V'p:
(a) if: s w17, which have an ultimate obligation (n2*1°w) outside, if done first outside, %109
(b) certainly: outside nxron, which has no “lower” obligation, if done below - invalid
2 rather (¥37): meaing of “the inner nam doesn’t complete them alone” — that they also need n21a2% mrn
b  Related xn»1a - dispute N’ “1/p™ about meaning of v. 6
i ym:if he completes the minn (195) then he has completed the n193 (n%3); if not, not
it nmn 7 why not read “if he completes everything, 193; if not- not” - if he omitted one of the minn - accom-
plished nothing
1 Analysis:5"7/1m0 ™
(a) Omne of them: understood that the dispute is simply exegetical, not practical (1172 R2'R PYNT Mynwn)
(b) Other: understood that N1 "1 holds that nasyn o v
(i) Suggestion: 9”21 must be the one to hold n’25Yn D»7'W, as he reports such an authority (in re: 2”1y 79
—if TN 790))
(ii) Challenge: > also reports that n>nn1 "7 holds that oyaoyn o»w
1. Rather: they may report this, but not about either of our n'®in — suggestion refuted
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